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PRACTICE EXERCISE SET 2 

 
 

 
 

Exercise 1. Conversion of Stock Warrants: Warren Buffett and Goldman Sachs  

 

In September 2008, in the midst of the credit crisis, Goldman Sachs invited Warren Buffett to 

contribute much needed equity capital to the firm. Buffett seemingly got a very good deal. For a 

$5 billion cash infusion, he received perpetual preferred equity shares carrying a 10 percent 

dividend (redeemable by Goldman Sachs) plus warrants to buy 43.5 million common shares at 

$115 per share. The $115 conversion price was set at the then current share price, a 3-year low 

for Goldman.  

 

a. If Buffet exercised the warrants at the share price of $170 on October 31, 2009, what 

would be the loss to Goldman’s shareholders? 

 

b. What would GAAP accounting report as the cost of the warrant arrangement to 

shareholders? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Exercise 2. Working with Accounting Relations 

 

Below are some numbers from a firm’s financial reports for fiscal year, 2009.  

 

 Common shareholders’ equity, beginning of 2009  $250 

               Common shareholders’ equity, end of 2009     307 

               Net operating assets, beginning of 2009     450     

               Net financial obligations, end of 2009      170   

               Net financial expense, 2009 (after tax)                                                 10 

               Comprehensive income, 2009 (after tax)                                              40 

 Share issues         25             

 

Calculate the following for the year. For measures with balance sheet numbers in the 

denominator, use beginning-of-period balance sheet numbers.         

 

a. Return on common equity (ROCE)  

b. Return on Net Operating assets (RNOA)  

c. Net borrowing cost, after tax (NBC) 

d. Net payout to shareholders 

e. There were no share repurchases. What were the cash dividends paid? 

f. Free cash flow 

g. Cash flow to net debtholders 

h. Apply the financing leverage equation to explain the difference between ROCE and  

 RNOA. 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Exercise 3. An Analysis of Procter & Gamble 

 

 

Proctor & Gamble (PG) is a consumer products company whose product range covers laundry 

detergents, toothpaste, diapers, paper towels, beauty and health products, shampoos, snacks, 

coffee and pet food. Among its brands are Charmin, Pampers, Bounty, Tide, Downy, Cascade, 

Olay, Tampax, Head and Shoulders, Pringles, and Folgers. In 2006, the firm acquired Gillette, 

adding shaving and grooming products to its range, along with Duracell Batteries. 

 

You looked at Procter & Gamble’s cash flow statement in Exercise Set 1. The balance sheet, 

income statement, and statement of shareholders equity for fiscal year 2008 are at the end of this 

Exercise, along with some notes to the statements.  

 

I. Prepare a reformulated statement of common shareholders’ equity for 2008, reformulated 

income statements for 2006-2008, and reformulated balance sheets for 2005-2008 

that separate operating activities from financing activities. Advertising and research 

and development are important to this brand company, so make sure you include 

these in your reformulated statements.  

 

II. Answer the questions that follow the financial statements. For measures with balance 

sheet numbers in the denominator, use average balance sheet amounts over the 

relevant year. 

 

A. Calculate the return on common equity (ROCE) for each year, 2006-2008.  

B. Calculate the return on net operating assets (RNOA) for each year, 2006-2008. 

C. Calculate the operating profit margin for each year, 2006-2008. 

D. Calculate the asset turnover for each year, 2006-2008. Show how the operating profit 

margin and asset turnover explain the RNOA in each year. 

E. What was the operating profit margin from sales for each year? 

F. Calculate expense ratios (as a percentage of sales) for advertising and R&D for each year. 

Do you see trends? 

G. Calculate sales growth rates for 2007 and 2008 and also growth rates for operating 

income from sales.   

H. Calculate growth rates for net operating assets for 2006-2008. Do you see a trend? Is 

there any one balance sheet item that particularly affects the growth? 

I. Using the financing leverage equation, show how financial leverage affected the return to 

shareholders (ROCE) in 2008.  

J. Carry out an analysis of the firm’s operating liability leverage for 2008. Footnotes to the 

firm’s financial statements indicate that its short-term borrowing rate was 4.2% (before 

tax). 

K. Why were translation gains so large in 2008? 

L. Where in the financial statements do you see how much P&G paid for the Gillette 

acquisition?  

M. Why did goodwill increase so much in 2006? 



N. From the income statement and balance sheet numbers, calculate free cash flow for the 

years 2006-2008. 

 

 

 

(As you work this exercise, you might experiment with using the BYOAP feature on the 

Applications page of the course web site (but it is not necessary)) 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 



 

 

 



 

 
 

 



Notes: 

                       Notes: 

 

1. Advertising expense and research and development expenses for 2006-2008 are as 

follows (in millions): 

 

                               2008  2007  2006 

 

Advertising                      $8,667          $7,937              $7,122 

Research and development                    2,226            2,112                2,075 

 

2. “Other non-operating income” in the income statement consists of the following: 

 

Interest income                                         204               287                   367               

Gains (losses) from asset sales                 258               277                  (  84)    

                                                                  462               564                   283          

                           
3. “Accrued and other liabilities” and “other noncurrent liabilities” consist largely of 

pension obligations and other postretirement benefit liabilities. 

 

4. The Statement of Shareholders’ Equity has a “Reserve for ESOP Debt Retirement.” An 

ESOP is an Employee Stock Ownership Plan. In the reformulation, take out the ESOP 

from the equity statement and net it against the loan to the ESOP (included in long-term 

debt on the balance sheet).  P&G is guaranteeing the loan to the ESOP, and accounting 

rules (SOP 76-3) require the firm to record the loan guarantee as a liability and to set up 

a reserve in equity for this contingency.  However, it is highly unlikely that P&G will 

have to honor the guarantee (and, in any case, the reserve is not a reduction of equity to 

the full face amount).  
 

5. Preferred dividends are tax deductible because they are paid by the ESOP (and the tax 

laws allow a deduction in this case).  
 

6. The conversion of preferred stock to common is done by the ESOP. P&G pays 

employees by isssing common shares in conversion of preferred shares held by ESOP.  

The loss on conversion to common for each year was: 

 

        2008   $289  million 

         2007     261  million 

         2006     173  million 

 

7. The combined federal, state and local statutory tax rate is 38 percent.   

 

 

 

 


